Both capacitor circuits are at equilibrium.

(a) Find the charge (21 on capacitor 1.

(b) Find the energy U; stored on capacitor 3.
(c) Find the charge Q2 on capacitor 2.

(d) Find the voltage V4 across capacitor 4.

C5=3pF =

C,=1pF

— C,=2pF
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Both capacitor circuits are at equilibrium.

(a) Find the charge (21 on capacitor 1.

(b) Find the energy U; stored on capacitor 3.
(c) Find the charge Q2 on capacitor 2.

(d) Find the voltage V4 across capacitor 4. anv
C5=3pF =
] — C,=2pF
Ci=1pF |11
I ||
ion: C4: 4pF
Solution: o4\
(@) Q1 =C1Vi = (1pF)(24V) = 24pC.
1 1
(b) Us = 503‘/32 — 5(3p1«“)(24\/)2 = 864pJ.
1 1\t 4
C C — — — = — F7
(c) Caa (02+C4> 2P
4
Q2 = Q4 = Q24 = C2qVoy = (gPF> (24V) = 32pC.
32pC
) va= 24 =30 gy
Cy 4pF




In the two resistor circuits shown find the equivalent resistances Ri23 (left) and R456 (right). Then
find the currents I, I2, I3 through the individual resistors on the left. and the currents 14, I5, Ig

through the individual resistors on the right.

— —Mh—
R, = 2Q R,= 20
—M W —M MWW
R,=2Q R3=2Q Rs=2Q Rg=2Q
14v 14V
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In the two resistor circuits shown find the equivalent resistances Ri23 (left) and R456 (right). Then
find the currents I, I2, I3 through the individual resistors on the left. and the currents 14, I5, Ig
through the individual resistors on the right.

— Wy M

R, = 20 R,=2Q

WM\ MWW\

R,=2Q0 Rj3=2Q Rs=2Q Rg=20Q

14v

Solution:

R = 20 + 20 = 41) R = —1 —I——1 1——Q
° = — — —
23 ) 123 20 10 3

1 1\ !
0R45=(——|——) = 1Q, Ruse6 = Ra5 + Re = 32

2Q) 202
14V 14V
o [ = —=7TA, I =1I3=——=35A
202 4€)
14V 1
Ig = Iy5 = —— = 4.67TA, Iy, =15 = —Ig = 2.33A
® g 45 30 4 5 9 6




In the circuit shown find the currents 17, I2, and the potential difference V;, — V,
(a) if the switch S is open,
(b) if the switch S is closed.

ZQ% ;SHD %39
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In the circuit shown find the currents I, I, and the potential difference V;, — V,

(a) if the switch S is open,
(b) if the switch S is closed.

ZQ% ESHD %39
\ _ \
[

Solution:

12V
a) [ =10 = — =24A
(@) Ih 2 = 5

Vi — Va = 8V — (2.4A)(29) = —4V + (2.4A)(3Q) = 3.2V.

8V 4V
(0) h=_5 =4A, D=_5=133A, V,—Va=0.
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